( What am I? )

Add and use the letters to find the answer to the riddle

13+ 13= JT
18 +26=( |Z

What has a face and two hands, but no arms or legs?

50 38 42 36 38 70
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What am I? )

Add and use the letters to find the answer to the riddle

13 +

18 +

26 +

17 +

35 +

19 +

18 +

13 =(26)T
26 =44 Z
26 = [52]V 21 + 29 =(50] A

25 = [42] L 19 + 18 =(37|E
35 = (70K 55 + 13 = [68)N
27 = (46] R 34 + 37 =(71]Q
18 =(36)0 | 19 + 19 =(38]C

What has a face and two hands, but no arms or legs?

50

38 42 36 38 70
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